This test is useful when we wish to test whether a mean, p, is different from a gold
standard reference value, y0. For example, we may wish to test whether a new product
is equivalent to an existing, industry standard product. Here, the ‘burden of proof’, so to

speak, falls on the new product; that is, equivalence is actually represented by the
alternative, rather than the null hypothesis.

Ho:|p—po| =0
Hy:|p—po|<d

Formulas

This calculator uses the following formulas to compute sample size and power, respectively:
- a 2
( Zl-a+ 21_g/2 )
n = e —
0 — |p— pol

I — po| — 0
1-8=2[®(z—21a)+P(—2—214)-1 , z2=——7"——
B=208 (-5 a) + B (271 0] e

where

n is sample size

o iIs standard deviation

& is the standard Normal distribution function
&1 is the standard Normal quantile function
o is Type | error

[ is Type Il errar, meaning 1 — 3 is power

d is the testing margin



